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Write a function named Div8_8 to divide an unsigned 8 bit number by an unsigned 8 bit number.
You can find this program in your textbook (Mazidi). Test your function by writing a program
named Div8_8test to test the subroutine Div8_8 by dividing the 8-bit-number: OxAA by the 8-

bit-number 0x55.

e et CLBCLUDE SMILOPOet 10
Y pointer 0x0000
Z pointer 0x0000
Cycle Counter 15 -CBEG
Frequency 1.0000 M| _DEF Hum=R20 Watch
Stop Watch 18.00 us .DEF Dencminator=R21 i
. Name Value Type Location
SREG OOEE -DEF Quotient=Rzz Tum [E Register R20
-l Registers ORC 020000 Denc@matcr g5 'Y REg::LStE]: R21
ROD 0x00 Quotient z Register R22
RO1 0x00 1di Num, OxAa
RO2 0x00 1di Denominator, 0xz35
RO3 0x00 sseall 1_;he g hit division
reall Dive
R4 0x00 ret
R05 Ox00 o
ROG6 0x00 * subroutine divides unside 8hit by Shit
® (uotient = HNumerator-Denominator
RO7 0x00 E
3 * rzz = rzl ~ rZl M 4 » ¥ s Watch 1 4 Watch 2 4 Watch 3 4 Watch 4
R08 0x00 * with remainder in r20 =
R0OS Ox00 -
R10 0x00
Diwvd:
Rn (00 clr Quotient s T2
R12 0x00
R13 0x00 S guotient 1s golng to increment by 1 everytime L1 loops
R14 0x00 #7 loop L1 stops when the numerator-denominator = less than the demoninator
R15 0x00 L1
R16 0x00 ine Quotient
R17 0x00
R18 0x00 sub  Hum,Dencminator .~ rzl,rzl
R19 %00 bree L1
R20 0x00 ssgince the guotient is ineremented by 1 when the loop began, after the loop guotient is dec
R21 0x55 dec  (Quotient
R22 0x02
R23 0x00 sonotice L1 is going to branch off when the numerator is no lnger divisiable by the denominator
<swhich means L1 is branching off when numerator-denominator results in a negative wvalue.
R24 000 s#therefore, the denominator is goinyg to be added to the numerator after the loop.
R25 000 add  Mum,Dencminator - r20.r2l
R26 0x00
R27 %00 =~ et
R23 0x00 -~
[ —] o




